

Task

① Given P, Q are two forces

Maximum value = $P+Q$

Minimum value = $P-Q$

$$\therefore \frac{P+Q}{P-Q} = \frac{3}{1} \therefore$$

$$P+Q = 3(P-Q)$$

$$\Rightarrow P+Q = 3P-3Q$$

$$\Rightarrow 4Q = 2P$$

$$\Rightarrow \frac{P}{Q} = \frac{2}{1}$$

$$\Rightarrow P=2Q$$

② Given $F_1 = F_2$

$$F = 1414 \text{ N}$$

$$\theta = 120^\circ$$

when F_1 & F_2 are perpendicular

$$\theta = 90^\circ$$

$$F = \sqrt{F_1^2 + F_2^2 + 2F_1F_2 \cos \theta}$$

$$\Rightarrow 1414 = \sqrt{F_1^2 + F_1^2}$$

$$\Rightarrow 1414 = \sqrt{2} F_1$$

$$\Rightarrow F_1 = 1000$$

$$\text{when } \theta = 120^\circ$$

$$R = \sqrt{F_1^2 + F_2^2 + 2F_1F_2 \cos 120^\circ}$$

$$R = F_1 = 1000 \text{ N}$$

③ let $F_1 = 2P$

$$F_2 = \sqrt{2} P$$

$$R = \sqrt{10} P$$

$$R = \sqrt{F_1^2 + F_2^2 + 2F_1F_2 \cos \theta}$$

$$\Rightarrow \sqrt{10} P = \sqrt{4P^2 + 2P^2 + 4P^2 \cos \theta}$$

$$\Rightarrow 10P^2 = 6P^2 + 4\sqrt{2} P^2 \cos \theta$$

$$\Rightarrow \cos \theta = \frac{1}{\sqrt{2}} ; \theta = 45^\circ$$

$$\text{(iv) } F_{\text{net}} = 0 \text{ i.e.}$$

$$N = \frac{360}{30} = 12$$

11 equal forces given

mean 10 forces balance

1 force not balance i.e.

$$F_{\text{net}} = 5 \text{ N}$$

⑤ Longest side length
 $<$ sum of two other sides

⑥ satisfy the above condition

$$6 < 2 + 5$$

So these three forces keep

the particle in equilibrium

because they are satisfying

Triangle law

⑦ Given $P=0$

$$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$\Rightarrow Q = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$\Rightarrow -P^2 = 2PQ \cos \theta$$

$$\Rightarrow -P = 2Q \cos \theta$$

when Q is doubled i.e. $2Q$

$$\Rightarrow -2Q = 2Q \cos \theta$$

$$\tan \alpha = \frac{2Q \sin \theta}{2Q + 2Q \cos \theta}$$

$$\Rightarrow \tan \alpha = \frac{2 \sin \theta}{2 + 2 \cos \theta}$$

$$\Rightarrow \tan \alpha = \frac{2 \sin \theta}{2(1 + \cos \theta)}$$

$$\Rightarrow \tan \alpha = 0$$

$$\alpha = 0^\circ$$

⑧ $\theta = 0^\circ$

$$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$= \sqrt{5^2 + 3^2 + 2(5)(3) \cos 0}$$

$$= \sqrt{25 + 9 + 30} \Rightarrow \sqrt{64}$$

$$= 8 \text{ N}$$

⑨ let $F_1 = 4 \text{ N}$; $F_2 = 3 \text{ N}$

R is their resultant

$$R^2 = F_1^2 + F_2^2 = 4^2 + 3^2$$

$$R = 5 \text{ N}$$

Now R is increased by 12

$$R^2 = 5^2 + 12^2 = 169$$

$$\Rightarrow R = 13 \text{ N}$$

$$169 = 4^2 + F_2^2 \Rightarrow F_2 = 13 \text{ N}$$

$$\Rightarrow 2Q \cos \theta = \frac{1}{2}$$

$$\Rightarrow \cos \theta = \frac{1}{4}$$

$$\Rightarrow \theta = 60^\circ$$

⑩ Given $P=20$; $Q=15$

$$R = 39 \text{ N}; \theta = 0^\circ$$

$$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$\Rightarrow (39)^2 = (20)^2 + (15)^2 + 2(20)(15) \cos \theta$$

$$\Rightarrow 1521 = 400 + 225 + 600 \cos \theta$$

$$\Rightarrow \cos \theta = \frac{500}{600} = \frac{5}{6}$$

$$\Rightarrow \theta = 33.7^\circ$$

$$\Rightarrow \cos \theta = \frac{1}{2}$$

$$\Rightarrow \theta = 60^\circ$$

⑪

Given $P \in (n+1)$; $Q = 1$

$$R = \sqrt{P^2 + Q^2} \Rightarrow R = \sqrt{(n+1)^2 + 1} \Rightarrow R = \sqrt{n^2 + 2n + 2}$$

now after rotating through

an angle 60° $P = n$; $Q = 1$

$$R = \sqrt{n^2 + 1^2} \Rightarrow R = \sqrt{n^2 + 1}$$

$$\therefore \text{From (1) \& (2)}$$

$$\sqrt{n^2 + 2n + 2} = \sqrt{n^2 + 1}$$

$$\Rightarrow n^2 + 2n + 2 = n^2 + 1 + 1$$

$$\Rightarrow 2n + 2 = 2 \Rightarrow n = 0$$

$$\therefore n = 0 \Rightarrow 3 \cdot 0 = 0$$

⑫ $F_1 = F_2 = F$; $R = 1414 \text{ N}$

$$\theta = 90^\circ$$

⑬

$$F_1 = 4 \text{ N}; F_2 = 3 \text{ N}$$

$$F_1 + F_2 = 7$$

$$R = \sqrt{F_1^2 + F_2^2 + 2F_1F_2 \cos \theta}$$

$$1414 = \sqrt{F^2 + F^2 + 2FF \cos \theta}$$

$$\Rightarrow 1414 = \sqrt{2F^2 + 2F^2 \cos \theta}$$

$$\Rightarrow F = \frac{1414}{\sqrt{2}} = \frac{1414}{1.414}$$

$$\Rightarrow F = 1000 = 10^3 \text{ N}$$



③ $|\vec{C}| = |\vec{A} + \vec{B}|$

④ $C^2 = A^2 + B^2 \rightarrow 4$

(19) $C = \sqrt{A^2 + B^2 + 2AB \cos \theta}$
 $C^2 = A^2 + B^2 + 2AB \cos \theta$
 $C = A - B \Rightarrow C^2 = A^2 + B^2 - 2AB \cos \theta$

From (3) & (4)
 $A^2 + B^2 + 2AB \cos \theta = A^2 + B^2 - 2AB \cos \theta$
 $2AB \cos \theta = 0$
 $\Rightarrow \theta = 90^\circ$

From (1) and (2)
 $A^2 + B^2 + 2AB \cos \theta = A^2 + B^2 - 2AB \cos \theta$
 $2AB \cos \theta = -2AB \cos \theta$
 $\Rightarrow \theta = 180^\circ$

From (3)
 $C^2 = A^2 + B^2 + 2AB \cos \theta$
 $\Rightarrow C^2 = 2^2 + 2^2 + 2 \cdot 2 \cdot 2 \cos \theta$
 $\Rightarrow 4 \cos \theta = -\frac{1}{2}$
 $\theta = 120^\circ = \frac{2\pi}{3}$

Task

① $|\vec{R}| = |\vec{A} + \vec{B}|$

② $\vec{R} = \vec{A} + \vec{B}$

③ Given
 $F_1 + F_2 = 7$
 $F_1 - F_2 = 3$
 $2F_1 = 10$
 $F_1 = 5N$
 $\Rightarrow F_2 = 2N$
 $G = 60$

$R = \sqrt{A^2 + B^2 + 2AB \cos \theta}$

$R = \sqrt{A^2 + B^2 + 2AB \cos \theta}$

$R^2 = A^2 + B^2 + 2AB \cos \theta$

$1^2 = 1^2 + 1^2 + 2 \cdot 1 \cdot 1 \cos \theta$

$\Rightarrow 1 = 1 + 1 + 2 \cos \theta$

$\Rightarrow \cos \theta = -\frac{1}{2}$

$\theta = 120^\circ$

Magnitude of difference

$R^1 = \sqrt{A^2 + B^2 - 2AB \cos \theta}$

$R^1 = \sqrt{1^2 + 1^2 - 2 \cdot 1 \cdot 1 \cos \theta}$

$R^1 = \sqrt{2}$

④ Given $\theta = 0$

$C = \sqrt{a^2 + b^2 + 2ab \cos \theta}$

$C = \sqrt{a^2 + b^2 + 2ab}$

$C = \sqrt{(a+b)^2}$

$C = a + b$

⑥ Given $F_1 + F_2 = 29$

$F_1 - F_2 = 5$

$2F_1 = 34$

$F_1 = 17N$

$F_2 = 12N$

Both are increased by 3

$F_1^1 = 17 + 3 = 20$

$F_2^1 = 12 + 3 = 15$

$R = \sqrt{F_1^2 + F_2^2} = \sqrt{20^2 + 15^2}$

$R = 25 \text{ kg wt}$

⑦ The net force F_{net} should be in blue maximum resultant and minimum resultant

$F_1 = 4N, F_2 = 3N, F_{\text{max}} = F_1 + F_2 = 7N$

$F_{\text{min}} = F_1 - F_2 = 1N$

so F_{net} in between 1 and 7

⑧ Given $P = 8, Q = 6, R = 10$

$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$

$\Rightarrow R^2 = P^2 + Q^2 + 2PQ \cos \theta$

$\Rightarrow 10^2 = 8^2 + 6^2 + 2 \cdot 8 \cdot 6 \cos \theta$

$\Rightarrow 100 = 64 + 36 + 96 \cos \theta$

$\Rightarrow \cos \theta = 0$

$\theta = 90^\circ$

(9) Given $P=Q$, $R=Q$.

$$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$\Rightarrow Q = \sqrt{Q^2 + Q^2 + 2Q^2 \cos \theta}$$

$$\Rightarrow Q^2 = 2Q^2 + 2Q^2 \cos \theta$$

$$\Rightarrow \cos \theta = -\frac{1}{2}$$

$$\theta = 120^\circ$$

(18) $R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$

$$\theta = 180^\circ \text{ For minimum value}$$

$$\Rightarrow R = \sqrt{P^2 + Q^2 + 2PQ \cos 180^\circ}$$

$$\Rightarrow R = \sqrt{P^2 + Q^2 - 2PQ}$$

(19) $R = \sqrt{P^2 + Q^2 - 2PQ}$

$$\Rightarrow R = \sqrt{(P-Q)^2}$$

$$\Rightarrow R = P-Q = 10-5$$

$$R = 5 \text{ N } [P=10 \text{ N } Q=5 \text{ N}]$$

(10) Given $\vec{A} = \vec{B}$

$$(\vec{A} + \vec{B}) = n(\vec{A} - \vec{B})$$

$$\Rightarrow \sqrt{A^2 + B^2 + 2AB \cos \theta} = n \sqrt{A^2 + B^2 - 2AB \cos \theta}$$

$$\Rightarrow A^2 + B^2 + 2AB \cos \theta = n^2 (A^2 + B^2 - 2AB \cos \theta)$$

$$\Rightarrow A^2 + A^2 + 2AA \cos \theta = n^2 (A^2 + A^2 - 2AA \cos \theta)$$

$$\Rightarrow 2A^2 + 2A^2 \cos \theta = n^2 (2A^2 - 2A^2 \cos \theta)$$

$$\Rightarrow 2A^2 (1 + \cos \theta) = n^2 2A^2 (1 - \cos \theta)$$

$$\Rightarrow 1 + \cos \theta = n^2 (1 - \cos \theta)$$

$$\Rightarrow \cos \frac{\theta}{2} = n \sin \frac{\theta}{2}$$

$$\Rightarrow \frac{1}{n} = \frac{\sin \frac{\theta}{2}}{\cos \frac{\theta}{2}}$$

$$\Rightarrow \tan \frac{\theta}{2} = \frac{1}{n}$$

$$\Rightarrow \frac{\theta}{2} = \tan^{-1} \left(\frac{1}{n} \right)$$

$$\Rightarrow \theta = 2 \tan^{-1} \left(\frac{1}{n} \right)$$

(19)

Given $P=2Q$

R is perpendicular

$$P=90^\circ$$

$$\tan \beta = \frac{P \sin \theta}{Q + P \cos \theta}$$

$$\Rightarrow Q + P \cos \theta = \frac{P \sin \theta}{\tan \theta}$$

$$\Rightarrow Q + P \cos \theta = 0$$

$$\Rightarrow P \cos \theta = -Q$$

$$\Rightarrow 2Q \cos \theta = -Q$$

$$\Rightarrow \cos \theta = -\frac{1}{2}$$

$$\theta = 120^\circ$$

$$\Rightarrow \frac{2\pi}{n} = \frac{2\pi}{3}$$

$$\Rightarrow n = 3$$

(17)

$$P=Q=15 \text{ N } \theta=120^\circ$$

$$R=5x$$

$$R = \sqrt{P^2 + Q^2 + 2PQ \cos \theta}$$

$$\Rightarrow 5x = \sqrt{15^2 + 15^2 + 2(15)(15) \cos 120^\circ}$$

$$\Rightarrow 5x = \sqrt{15^2 + 15^2 + 2(15)^2 \left(-\frac{1}{2}\right)}$$

$$\Rightarrow 5x = \sqrt{15^2 + 15^2 - 15^2}$$

$$\Rightarrow 5x = 15$$

$$\Rightarrow x = 3$$

$$\tan \alpha = \frac{Q \sin \theta}{P + Q \cos \theta}$$

$$= \frac{6 \sin 90^\circ}{8 + 6 \cos 90^\circ}$$

$$\tan \alpha = \frac{6}{8}$$

$$\alpha = 37^\circ$$

$$\tan \alpha = \frac{3}{4}$$

$$\alpha = 37^\circ$$

